Quiz 5
Math 3C: Precalculus
November 7, 2019

‘ When you finish, please remain seated until class is dismissed
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Problem 1 (8 points). Let
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(a) What are the horizontal asymptotes of A(a)?
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(b) What are the vertical asymptotes of A(a)?
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(c) Does h(a) have any holes? If so, where?

Y@S. &:2 hakes &90% M e raTror Cl/w[ JM@VW;I’Z&‘I“OK‘

%ﬁal Z.w/ SO ‘}’;\efe IS a )’)o[@ aA‘ d

T0 ?MA) VCJ“H@J co iﬂaﬂ"ﬁ O’? l\b’@,‘:

-3 3
- (&= &1‘4) _ (Q+‘> — -—-(11"0 = = = >
(a/g)l/z\i3w = 3)at3) (23y2+3) 5 | 5
Version B THERE IS A SECOND PAGE

[ Fole o (2 i)




2]

N
e e S e

w

o

\a‘

R S

N
S S T 30 S o e o o T e

N

)

Problem 2 (2 points). Suppose you have an investment account with $1000 in it that
generates interest. If the interest rate is 5% compounded annually, what is the amount
of money in the account after 1 year?
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